

Evaluate the following integrals:

Question # 1

$$\int \frac{-2x}{\sqrt{4-x^2}} dx$$

Solution

$$\text{Let } I = \int \frac{-2x}{\sqrt{4-x^2}} dx$$

$$\text{Put } t = 4 - x^2 \Rightarrow dt = -2x dx$$

$$\text{So } I = \int \frac{dt}{\sqrt{t}} = \int (t)^{-\frac{1}{2}} dt$$

$$= \frac{(t)^{-\frac{1}{2}+1}}{-\frac{1}{2}+1} + c = \frac{(t)^{\frac{1}{2}}}{\frac{1}{2}} + c$$

$$= 2\sqrt{t} + c = 2\sqrt{4-x^2} + c$$

Important Integrals

$$\text{Since } \frac{d}{dx} \text{Tan}^{-1}\left(\frac{x}{a}\right) = \frac{a}{a^2+x^2}$$

By Integrating, we have

$$\begin{aligned} \text{Tan}^{-1}\left(\frac{x}{a}\right) &= \int \frac{a}{a^2+x^2} dx \\ &= a \cdot \int \frac{1}{a^2+x^2} dx \end{aligned}$$

$$\Rightarrow \int \frac{1}{a^2+x^2} dx = \frac{1}{a} \text{Tan}^{-1}\left(\frac{x}{a}\right)$$

Similarly

$$\int \frac{dx}{\sqrt{a^2-x^2}} = \text{Sin}^{-1} \frac{x}{a}$$

$$\int \frac{dx}{x\sqrt{x^2-a^2}} = \frac{1}{a} \text{Sec}^{-1} \frac{x}{a}$$

Question # 2

$$\int \frac{dx}{x^2+4x+13}$$

Solution

$$\text{Let } I = \int \frac{dx}{x^2+4x+13}$$

$$= \int \frac{dx}{x^2+2(x)(2)+(2)^2-(2)^2+13}$$

$$= \int \frac{dx}{(x+2)^2-4+13}$$

$$= \int \frac{dx}{(x+2)^2+9} = \int \frac{dx}{(x+2)^2+(3)^2}$$

$$\text{Put } t = x+2 \Rightarrow dt = dx$$

$$\text{So } I = \int \frac{dt}{t^2+3^2}$$

$$= \frac{1}{3} \text{Tan}^{-1} \frac{t}{3} + c$$

$$= \frac{1}{3} \text{Tan}^{-1} \frac{x+2}{3} + c$$

Question # 3

$$\int \frac{x^2}{4+x^2} dx$$

Solution

$$\int \frac{x^2}{4+x^2} dx = \int \left(1 - \frac{4}{4+x^2}\right) dx = \int dx - 4 \int \frac{dx}{4+x^2}$$

$$= \int dx - 4 \int \frac{dx}{4+x^2}$$

$$= x - 4 \int \frac{dx}{(2)^2+x^2}$$

$$= x - 4 \cdot \frac{1}{2} \text{Tan}^{-1}\left(\frac{x}{2}\right) + c$$

$$= x - 2 \text{Tan}^{-1}\left(\frac{x}{2}\right) + c$$

Question # 4

$$\int \frac{1}{x \ln x} dx$$

Solution

$$\text{Suppose } I = \int \frac{1}{x \ln x} dx$$

$$= \int \frac{1}{\ln x} \cdot \frac{1}{x} dx$$

$$\text{Put } t = \ln x \Rightarrow dt = \frac{1}{x} dx$$

$$\text{So } I = \int \frac{1}{t} dt = \ln|t| + c$$

$$= \ln|\ln x| + c$$

Question # 5

$$\int \frac{e^x}{e^x+3} dx$$

Solution

Suppose $I = \int \frac{e^x}{e^x+3} dx$

Put $t = e^x + 3 \Rightarrow dt = e^x dx$

So $I = \int \frac{dt}{t} = \ln|t| + c$
 $= \ln|e^x + 3| + c$

Question # 6

$$\int \frac{x+b}{(x^2+2bx+c)^{\frac{1}{2}}} dx$$

Solution

Let $I = \int \frac{x+b}{(x^2+2bx+c)^{\frac{1}{2}}} dx$

Put $t = x^2 + 2bx + c$
 $\Rightarrow dt = (2x + 2b) dx \Rightarrow dt = 2(x + b) dx$

$\Rightarrow \frac{1}{2} dt = (x + b) dx$

So $I = \int \frac{\frac{1}{2} dt}{t^{\frac{1}{2}}} = \frac{1}{2} \int t^{-\frac{1}{2}} dt$
 $= \frac{1}{2} \cdot \frac{t^{-\frac{1}{2}+1}}{\left(-\frac{1}{2}+1\right)} + c_1 = \frac{1}{2} \cdot \frac{t^{\frac{1}{2}}}{\frac{1}{2}} + c_1$
 $= (x^2 + 2bx + c)^{\frac{1}{2}} + c_1$
 $= \sqrt{x^2 + 2bx + c} + c_1$

Question # 7

$$\int \frac{\sec^2 x}{\sqrt{\tan x}} dx$$

Solution

Let $I = \int \frac{\sec^2 x}{\sqrt{\tan x}} dx$

Put $t = \tan x \Rightarrow dt = \sec^2 x dx$

So $I = \int \frac{dt}{\sqrt{t}} = \int t^{-\frac{1}{2}} dt$
 $= \frac{t^{-\frac{1}{2}+1}}{-\frac{1}{2}+1} + c = \frac{t^{\frac{1}{2}}}{\frac{1}{2}} + c$

$$= 2(\tan x)^{\frac{1}{2}} + c = 2\sqrt{\tan x} + c$$

Important Integral

$$\begin{aligned} \int \sec \theta d\theta &= \int \frac{\sec \theta (\sec \theta + \tan \theta)}{\sec \theta + \tan \theta} d\theta \\ &= \int \frac{\sec^2 \theta + \sec \theta \tan \theta}{\sec \theta + \tan \theta} d\theta \\ &= \int \frac{\sec \theta \tan \theta + \sec^2 \theta}{\sec \theta + \tan \theta} d\theta \end{aligned}$$

Take $t = \sec \theta + \tan \theta$
 $\Rightarrow dt = (\sec^2 \theta + \sec \theta \tan \theta) d\theta$

So $\int \sec \theta d\theta = \int \frac{1}{t} dt$
 $= \ln|t| + c$
 $= \ln|\sec \theta + \tan \theta| + c$

$\Rightarrow \boxed{\int \sec \theta d\theta = \ln|\sec \theta + \tan \theta| + c}$

Similarly

$\boxed{\int \operatorname{cosec} \theta d\theta = \ln|\operatorname{cosec} \theta - \cot \theta| + c}$

See proof at page 133

Question # 8

(a) Show that

$$\frac{dx}{\sqrt{x^2 - a^2}} = \ln|x + \sqrt{x^2 - a^2}| + c$$

(b) Show that

$$\int \sqrt{a^2 - x^2} dx = \frac{a^2}{2} \operatorname{Sin}^{-1} \frac{x}{a} + \frac{x}{2} \sqrt{a^2 - x^2} + c$$

Solution

(a) Let $I = \frac{dx}{\sqrt{x^2 - a^2}}$

Put $x = a \sec \theta \Rightarrow dx = a \sec \theta \tan \theta d\theta$

So $I = \int \frac{a \sec \theta \tan \theta d\theta}{\sqrt{(a \sec \theta)^2 - a^2}}$
 $= \int \frac{a \sec \theta \tan \theta d\theta}{\sqrt{a^2 (\sec^2 \theta - 1)}}$
 $= \int \frac{a \sec \theta \tan \theta d\theta}{\sqrt{a^2 \tan^2 \theta}}$

$\therefore 1 + \tan^2 \theta = \sec^2 \theta$

$= \int \frac{a \sec \theta \tan \theta d\theta}{a \tan \theta} = \int \sec \theta d\theta$
 $= \ln|\sec \theta + \tan \theta| + c_1$
 $= \ln|\sec \theta + \sqrt{\sec^2 \theta - 1}| + c_1$

$$\begin{aligned}
 &= \ln \left| \frac{x}{a} + \sqrt{\frac{x^2}{a^2} - 1} \right| + c_1 & \left. \begin{array}{l} x = a \sec \theta \\ \frac{x}{a} = \sec \theta \end{array} \right\} \\
 &= \ln \left| \frac{x}{a} + \sqrt{\frac{x^2 - a^2}{a^2}} \right| + c_1 \\
 &= \ln \left| \frac{x}{a} + \frac{\sqrt{x^2 - a^2}}{a} \right| + c_1 \\
 &= \ln \left| \frac{x + \sqrt{x^2 - a^2}}{a} \right| + c_1 \\
 &= \ln \left| x + \sqrt{x^2 - a^2} \right| - \ln a + c_1 \\
 &= \ln \left| x + \sqrt{x^2 - a^2} \right| + c
 \end{aligned}$$

where $c = -\ln a + c_1$

(b) Let $I = \int \sqrt{a^2 - x^2} dx$
 Put $x = a \sin \theta \Rightarrow dx = a \cos \theta d\theta$
 So $I = \int \sqrt{a^2 - a^2 \sin^2 \theta} \cdot a \cos \theta d\theta$
 $= \int \sqrt{a^2 (1 - \sin^2 \theta)} \cdot a \cos \theta d\theta$
 $= \int \sqrt{a^2 \cos^2 \theta} \cdot a \cos \theta d\theta \quad \because 1 - \sin^2 \theta = \cos^2 \theta$
 $= \int a \cos \theta \cdot a \cos \theta d\theta$
 $= a^2 \int \cos^2 \theta d\theta \quad \because \cos^2 \theta = \frac{1 + \cos 2\theta}{2}$
 $= a^2 \int \frac{1 + \cos 2\theta}{2} d\theta = \frac{a^2}{2} \int (1 + \cos 2\theta) d\theta$
 $= \frac{a^2}{2} \left(\theta + \frac{\sin 2\theta}{2} \right) + c$
 $= \frac{a^2}{2} \left(\theta + \frac{2 \sin \theta \cos \theta}{2} \right) + c$
 $= \frac{a^2}{2} \left(\theta + \sin \theta \sqrt{1 - \sin^2 \theta} \right) + c$
 $= \frac{a^2}{2} \left(\sin^{-1} \frac{x}{a} + \frac{x}{a} \sqrt{1 - \frac{x^2}{a^2}} \right) + c$
 $= \frac{a^2}{2} \left(\sin^{-1} \frac{x}{a} + \frac{x}{a} \sqrt{\frac{a^2 - x^2}{a^2}} \right) + c$
 $= \frac{a^2}{2} \left(\sin^{-1} \frac{x}{a} + \frac{x}{a} \frac{\sqrt{a^2 - x^2}}{a} \right) + c$
 $= \frac{a^2}{2} \left(\sin^{-1} \frac{x}{a} + \frac{x}{a^2} \sqrt{a^2 - x^2} \right) + c$

$$\left. \begin{array}{l} x = a \sin \theta \\ \frac{x}{a} = \sin \theta \\ \sin^{-1} \frac{x}{a} = \theta \end{array} \right\}$$

$$= \frac{a^2}{2} \sin^{-1} \frac{x}{a} + \frac{x}{2} \sqrt{a^2 - x^2} + c$$

Evaluate the following integrals:

Question # 9

$$\int \frac{dx}{(1+x^2)^{\frac{3}{2}}}$$

Solution

$$\text{Let } I = \int \frac{dx}{(1+x^2)^{\frac{3}{2}}}$$

$$\text{Put } x = \tan \theta \Rightarrow dx = \sec^2 \theta d\theta$$

$$I = \int \frac{\sec^2 \theta d\theta}{(1 + \tan^2 \theta)^{\frac{3}{2}}}$$

$$= \int \frac{\sec^2 \theta d\theta}{(\sec^2 \theta)^{\frac{3}{2}}} \because 1 + \tan^2 \theta = \sec^2 \theta$$

$$= \int \frac{\sec^2 \theta d\theta}{\sec^3 \theta}$$

$$= \int \frac{d\theta}{\sec \theta} = \int \cos \theta d\theta = \sin \theta + c$$

$$= \frac{\sin \theta}{\cos \theta} \cdot \cos \theta + c = \tan \theta \cdot \frac{1}{\sec \theta} + c$$

$$= \tan \theta \cdot \frac{1}{\sqrt{1 + \tan^2 \theta}} + c$$

$$= \frac{x}{\sqrt{1+x^2}} + c \quad \because x = \tan \theta$$

Question # 10

$$\int \frac{1}{(1+x^2) \tan^{-1} x} dx$$

Solution

$$\text{Let } I = \int \frac{1}{(1+x^2) \tan^{-1} x} dx$$

$$= \int \frac{1}{\tan^{-1} x} \cdot \frac{1}{(1+x^2)} dx$$

$$\text{Put } t = \tan^{-1} x \Rightarrow dt = \frac{1}{1+x^2} dx$$

$$\text{So } I = \int \frac{1}{t} dt = \ln |t| + c$$

$$= \ln |\tan^{-1} x| + c$$

Question # 11

$$\int \sqrt{\frac{1+x}{1-x}} dx$$

Solution

$$\text{Let } I = \int \sqrt{\frac{1+x}{1-x}} dx$$

$$\text{Put } x = \sin \theta \Rightarrow dx = \cos \theta d\theta$$

$$\begin{aligned} \text{So } I &= \int \sqrt{\frac{1+\sin \theta}{1-\sin \theta}} \cdot \cos \theta d\theta \\ &= \int \sqrt{\frac{1+\sin \theta}{1-\sin \theta} \cdot \frac{1+\sin \theta}{1+\sin \theta}} \cdot \cos \theta d\theta \\ &= \int \sqrt{\frac{(1+\sin \theta)^2}{1-\sin^2 \theta}} \cdot \cos \theta d\theta \\ &= \int \sqrt{\frac{(1+\sin \theta)^2}{\cos^2 \theta}} \cdot \cos \theta d\theta \\ &= \int \frac{1+\sin \theta}{\cos \theta} \cdot \cos \theta d\theta = \int (1+\sin \theta) d\theta \\ &= \theta - \cos \theta + c \\ &= \theta - \sqrt{1-\sin^2 \theta} + c \quad \left\{ \begin{array}{l} \because x = \sin \theta \\ \because \sin^{-1} x = \theta \end{array} \right. \\ &= \sin^{-1} x - \sqrt{1-x^2} + c \end{aligned}$$

Question # 12

$$\int \frac{\sin \theta}{1+\cos^2 \theta} d\theta$$

Solution

$$\text{Let } I = \int \frac{\sin \theta}{1+\cos^2 \theta} d\theta$$

$$\begin{aligned} \text{Put } t &= \cos \theta \\ \Rightarrow dt &= -\sin \theta d\theta \Rightarrow -dt = \sin \theta d\theta \end{aligned}$$

$$\begin{aligned} \text{So } I &= \int \frac{-dt}{1+t^2} = -\int \frac{dt}{1+t^2} \\ &= -\tan^{-1} t + c \\ &= -\tan^{-1} (\cos \theta) + c \end{aligned}$$

Question # 13

$$\int \frac{ax}{\sqrt{a^2-x^4}} dx$$

Solution

$$\text{Let } I = \int \frac{ax}{\sqrt{a^2-x^4}} dx$$

$$= a \int \frac{x}{\sqrt{a^2-x^4}} dx$$

$$\text{Put } t = x^2 \text{ then } t^2 = x^4$$

$$dt = 2x dx \Rightarrow \frac{1}{2} dt = x \cdot dx$$

$$\text{So } I = a \int \frac{\frac{1}{2} dt}{\sqrt{a^2-t^2}}$$

$$\begin{aligned} &= \frac{a}{2} \int \frac{dt}{\sqrt{a^2-t^2}} \\ &= \frac{a}{2} \sin^{-1} \left(\frac{t}{a} \right) + c \quad \because \int \frac{dx}{\sqrt{a^2-x^2}} = \sin^{-1} \frac{x}{a} \\ &= \frac{a}{2} \sin^{-1} \left(\frac{x^2}{a} \right) + c \end{aligned}$$

Question # 14

$$\int \frac{dx}{\sqrt{7-6x-x^2}}$$

Solution

$$\text{Let } I = \int \frac{dx}{\sqrt{7-6x-x^2}}$$

$$= \int \frac{dx}{\sqrt{-(x^2+6x-7)}}$$

$$= \int \frac{dx}{\sqrt{-(x^2+2(3)(x)+(3)^2-(3)^2-7)}}$$

$$= \int \frac{dx}{\sqrt{-(x+3)^2-16}}$$

$$= \int \frac{dx}{\sqrt{16-(x+3)^2}}$$

$$\text{Put } t = x+3 \Rightarrow dx = dt$$

$$\text{So } I = \frac{dt}{\sqrt{16-t^2}} = \int \frac{dt}{\sqrt{(4)^2-(t)^2}}$$

$$= \sin^{-1} \left(\frac{t}{4} \right) + c$$

$$= \sin^{-1} \left(\frac{x+3}{4} \right) + c$$

Question # 15

$$\int \frac{\cos x}{\sin x \cdot \ln \sin x} dx$$

Solution

$$\text{Let } I = \int \frac{\cos x}{\sin x \cdot \ln \sin x} dx$$

$$= \int \frac{1}{\ln \sin x} \cdot \frac{\cos x}{\sin x} dx$$

$$\text{Put } t = \ln \sin x \Rightarrow dt = \frac{1}{\sin x} \cdot \cos x dx$$

$$\text{So } I = \int \frac{1}{t} dt = \ln |t| + c$$

$$= \ln |\ln \sin x| + c$$

Question # 16

$$\int \cos x \left(\frac{\ln \sin x}{\sin x} \right) dx$$

Solution

$$\begin{aligned} \text{Let } I &= \int \cos x \left(\frac{\ln \sin x}{\sin x} \right) dx \\ &= \int \ln \sin x \cdot \frac{\cos x}{\sin x} dx \end{aligned}$$

$$\text{Put } t = \ln \sin x \Rightarrow dt = \frac{1}{\sin x} \cdot \cos x dx$$

No do yourself

Question # 17

$$\int \frac{x dx}{4+2x+x^2}$$

Solution

$$\begin{aligned} \text{Let } I &= \int \frac{x dx}{4+2x+x^2} \\ &= \frac{1}{2} \int \frac{2x dx}{x^2+2x+4} \end{aligned}$$

+ing and -ing 2 in numerator.

$$\begin{aligned} \Rightarrow I &= \frac{1}{2} \int \frac{(2x+2)-2}{x^2+2x+4} dx \\ &= \frac{1}{2} \int \left(\frac{2x+2}{x^2+2x+4} - \frac{2}{x^2+2x+4} \right) dx \\ &= \frac{1}{2} \int \frac{2x+2}{x^2+2x+4} dx - \frac{1}{2} \int \frac{2}{x^2+2x+4} dx \\ &= \frac{1}{2} \int \frac{d}{dx} (x^2+2x+4) \frac{dx}{x^2+2x+4} - \frac{2}{2} \int \frac{dx}{x^2+2x+1+3} \\ &= \frac{1}{2} \ln |x^2+2x+4| - \int \frac{dx}{(x+1)^2+(\sqrt{3})^2} \\ &= \frac{1}{2} \ln |x^2+2x+4| - \frac{1}{\sqrt{3}} \tan^{-1} \frac{x+1}{\sqrt{3}} + c \end{aligned}$$

Question # 18

$$\int \frac{x}{x^4+2x^2+5} dx$$

Solution

$$\text{Let } I = \int \frac{x}{x^4+2x^2+5} dx$$

$$\text{Put } t = x^2 \text{ then } t^2 = x^4$$

$$dt = 2x dx \Rightarrow \frac{1}{2} dt = x dx$$

$$\text{So } I = \int \frac{\frac{1}{2} dt}{t^2+2t+5} = \frac{1}{2} \int \frac{dt}{t^2+2t+1+4}$$

$$\begin{aligned} &= \frac{1}{2} \int \frac{dt}{(t+1)^2+(2)^2} \\ &= \frac{1}{2} \cdot \frac{1}{2} \tan^{-1} \left(\frac{t+1}{2} \right) + c \\ &= \frac{1}{4} \tan^{-1} \left(\frac{x^2+1}{2} \right) + c \end{aligned}$$

Question # 19

$$\int \left[\cos \left(\sqrt{x} - \frac{x}{2} \right) \right] \times \left(\frac{1}{\sqrt{x}} - 1 \right) dx$$

Solution

$$\text{Let } I = \int \left[\cos \left(\sqrt{x} - \frac{x}{2} \right) \right] \times \left(\frac{1}{\sqrt{x}} - 1 \right) dx$$

$$\text{Put } t = \sqrt{x} - \frac{x}{2}$$

$$\Rightarrow dt = \left(\frac{1}{2} x^{-\frac{1}{2}} - \frac{1}{2} \right) dx \Rightarrow dt = \frac{1}{2} \left(\frac{1}{\sqrt{x}} - 1 \right) dx$$

$$\Rightarrow 2 dt = \left(\frac{1}{\sqrt{x}} - 1 \right) dx$$

$$\begin{aligned} \text{So } I &= \int \cos t \cdot 2 dt \\ &= 2 \int \cos t dt \\ &= 2 \sin t + c \end{aligned}$$

Question # 20

$$\int \frac{x+2}{\sqrt{x+3}} dx$$

Solution

$$\text{Let } I = \int \frac{x+2}{\sqrt{x+3}} dx$$

$$\text{Put } t = x+3 \text{ then } t-3 = x$$

$$\Rightarrow dt = dx$$

$$\text{So } I = \int \frac{t-3+2}{\sqrt{t}} dt$$

$$= \int \frac{t-1}{(t)^{\frac{1}{2}}} dt = \int \left(\frac{t}{(t)^{\frac{1}{2}}} - \frac{1}{(t)^{\frac{1}{2}}} \right) dx$$

$$= \int \left((t)^{\frac{1}{2}} - (t)^{-\frac{1}{2}} \right) dx$$

$$= \frac{(t)^{\frac{1}{2}+1}}{\frac{1}{2}+1} - \frac{(t)^{-\frac{1}{2}+1}}{-\frac{1}{2}+1} + c = \frac{(t)^{\frac{3}{2}}}{\frac{3}{2}} - \frac{(t)^{\frac{1}{2}}}{\frac{1}{2}} + c$$

$$= \frac{2(x+3)^{\frac{3}{2}}}{3} - 2(x+3)^{\frac{1}{2}} + c$$

$$= \frac{2(x+3)^{\frac{3}{2}}}{3} - 2\sqrt{x+3} + c$$

Question # 21

$$\int \frac{\sqrt{2}}{\sin x + \cos x} dx$$

Solution

$$\begin{aligned} \text{Let } I &= \int \frac{\sqrt{2}}{\sin x + \cos x} dx \\ &= \int \frac{1}{\frac{1}{\sqrt{2}}(\sin x + \cos x)} dx \\ &= \int \frac{1}{\frac{1}{\sqrt{2}}\sin x + \frac{1}{\sqrt{2}}\cos x} dx \end{aligned}$$

$$\text{Put } \cos \frac{\pi}{4} = \frac{1}{\sqrt{2}} = \sin \frac{\pi}{4}$$

$$\begin{aligned} \text{So } I &= \int \frac{1}{\sin \frac{\pi}{4} \cdot \sin x + \cos \frac{\pi}{4} \cdot \cos x} dx \\ &= \int \frac{1}{\cos\left(x - \frac{\pi}{4}\right)} dx = \int \sec\left(x - \frac{\pi}{4}\right) dx \\ &= \ln \left| \sec\left(x - \frac{\pi}{4}\right) + \tan\left(x - \frac{\pi}{4}\right) \right| + c \end{aligned}$$

Question # 22

$$\int \frac{dx}{\frac{1}{2}\sin x + \frac{\sqrt{3}}{2}\cos x}$$

Solution

$$\text{Let } I = \int \frac{dx}{\frac{1}{2}\sin x + \frac{\sqrt{3}}{2}\cos x}$$

$$\therefore \cos \frac{\pi}{3} = \frac{1}{2} \quad \& \quad \sin \frac{\pi}{3} = \frac{\sqrt{3}}{2}$$

$$\therefore I = \int \frac{dx}{\cos \frac{\pi}{3} \sin x + \sin \frac{\pi}{3} \cos x}$$

$$= \int \frac{dx}{\sin\left(x + \frac{\pi}{3}\right)} = \int \operatorname{cosec}\left(x + \frac{\pi}{3}\right) dx$$

$$= \ln \left| \operatorname{cosec}\left(x + \frac{\pi}{3}\right) - \cot\left(x + \frac{\pi}{3}\right) \right| + c$$

Found Error – tell us at
<http://www.mathcity.org/error>

Error Analysts

- 1- Usman Khilji – Fazmic Sargodha (2004-06)
- 2- Tahir Waqas – UoS Sargodha. (2003-05)
- 3- Ragheeb - Nusrat Jehan College (2019)

If you found any error, please report us at
www.mathcity.org/error

Book: *Exercise 3.3 (Page 137)*
Text Book of Algebra and Trigonometry Class XII
Punjab Textbook Board, Lahore.

Available online at <https://www.MathCity.org> in
 PDF Format
 (Picture format to view online).
 Updated: 08-02-2018.



These resources are shared under the licence Attribution-NonCommercial-NoDerivatives 4.0 International
<https://creativecommons.org/licenses/by-nc-nd/4.0/>
 Under this licence if you remix, transform, or build upon the material, you may not distribute the modified material.